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Andante

GE 5� 555555 5 5 5 : 5� 5 4 5 5 5E 5� 55 5! 5� 5 5� : 55 4
�E 55 5� 5555555 5 5 55 5� 555555555 55555 5 555 5 55 55 5� 555555 5� 55

37GE 5! 5 5 5 5� 5 5 5 5� 5 5 5 5� 5 5 5! 5� 5 5! 5 5� 5 5� : 5 55 5 5 5 55 5� 5 5 5 5 5 5� 5

�E 5 5! 5 5 5 5 5 5 5 5 5 5 5� 5! 5 5 5 5 5 5 5 5 5! 5 5� 5 5 5 5! 5 5� 5 ��5 5� 5 5 5B 5 4

41GE 5! 5 5� 55 5� 55 5! 5 : 5� 5 4 5 5 5E 5! 5 5� 5E 55 5E 5 4
�E 5� 5! 5 55 5 5! 5 5! 55 5 5� 55555 5! 55555 5E 5� 5! 55 5 55 5� 555 5 5� 5555 5E 555 5E 5
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Supplementary Example 8.1
Mozart, Piano Sonata in C, K. 545
second movement, 33–48

1

Analyzing Classical Form



45GE 5� 5 5 5 5E 5 5 5� 5 5 5 5 5� 5 5 5E 5 5� 5� 5 5 5� 5 : 5 5 5 5 5 55 5
�E 5! 5 5E 5 5 5 5E 5 5 5 5E 5 5� 5 5 5 5 5 5 5 5 5 5 5 5 5 5� 5 5 5� 5 5 5 5 5 5 5B 5�

Supplementary Example 8.1, Mozart, Piano Sonata in C, K. 545, second movement, 33–48 (continued)
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Allegretto con variazioni ::
::
::
::

::
::
::
::

1

2

G���
p

5 :5 5M
� = 5 :5 5M� = 5 :5 5M� = 5 :5 5M� =

cresc.

5 :5 5M� = 5 :5 5M
� =

f

5 : 5! 5M 5M 5M 5M 5� =
pp

5 :5 5! 5 : 5�
G��� 55 55

� = 55 55� = 5 5� = 5 5� =
cresc.
5 5� = 5 5� =

f
5 : 5 5M 5M 5M 5M 55

� =
pp

5! 5� 5!
����

p

p
5 5� = 5 5� = 5 5� = 5 5� =

cresc.
5 5� = 5 5� =

f

5 : 5 5M 5M 5M
5M 5!� =

pp

5 5 5

����
p

5 5� = 5 5� = 5 5� = 5 5� =
cresc.
5 5� = 5 5� =

f

5 : 5 5M 5M 5M 5M 5� =
pp

5 5 5

101

2

G��� 5 5 :5 5E 5 5
cresc.

5 : 5! 5M� = 5
:5 5M� = 5 :5 5M� = 5

:5 5M� =
f

5 :5 5M� =
sf

5 :5 5M� =
sf

5 : 5 5M 5M 5M 5M 5
� =

G��� 5� 5 5 5E 5
cresc.
55! :: 5 55M

� = 5 :5 5M� = 5 :5 5M� = 5
:5 5M� =

f

5 :5 5M
� =

sf

5 :5 5M� =
sf

5 : 5 5M 5M 5M 55M
55� =

���� 5 5 5 5
5!
cresc.

5� : 5 5M� = 5 :5 5� = 5 :5 5M� = 5 :5 5M� =
f

5 :5 5M� =
sf

5 :5 5M� =
sf
5 : 5 5M 5M 5M 5M 5� =

����
5 5 5 5 5

cresc.

5 : 5 5M� = 5 :5 5M� =
5 :5 5M� = 5 :5 5M� =

f

5 :5 5M� =
sf

5 :5 5M� =
sf
5 : 5! 5M 5M 5M 5M 5� � =
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Supplementary Example 8.2
Beethoven, String Quartet in E-flat, Op. 74
fourth movement, 1–20

1

Analyzing Classical Form
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Vivace

G
p

k5�5 5 5M 555M 555M 555M 555M 555M 555M 555M 555M
f
555M 555M p

k5�5 5E 5M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M
sf

55 55 5M 55
� 4

p
5M 4 5M 5M 4 5M 5M

sf
5 5 5 5 5

4 4
p
5M 4 5M 5M 4 5M 5M

sf

f

5 5 5 5 5
4 5� 5 5M

sf

5�

10 ::
::
::
::

G 55 5M
sf
55E 55 5M!

sf
55E 55 5M

sf

55E 55 555ME 555M 555 555
p
55M 55! 55 55ME 55 4

p

k5E �5 555M! 555M 555M
cresc.

555M 555M 555M
� 5 5M 5 5! 5M 5 5 5M 55 55 55M 5

5
M 55EE 55 55M BB 55M 55

4 4 55M 4
5M 5M 4 5M

19G 555M 555M 555M
f
555M 555M

p

k5E �5 555M 555M 555M
cresc.

555M 555M 555M 555M 555M 555M
f

555M 555M
sf

55 5B 5
sf

55
� 5M

sf

5 5 5 5 5M 4 4
55

4 5M 5M 4 5M 5M�
sf

5 5 5 5 5M 4 55�� BB
55��
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Supplementary Example 8.3
Beethoven, “Diabelli” Variations, Op. 120
1–32 (R=2N)

1

Analyzing Classical Form



26 ::
::

G 5B 5
sf

E55 5B 5!
sf

E55 5B 5
ff

55M 55M 555M 555M 55B 55
f

55M 55 55 55M 55M 4
� BB

55 BB!!
55 BB 55M

!! 55M 55M 55M 55 55 55M BB 55M 55M
4

Supplementary Example 8.3, Beethoven, “Diabelli” Variations, 1–32 (R=2N) (continued)
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Andante

G���
tutti

sempre p

555 55 55 555 555 =
5� 555 55 5 555 555

=
555M 555M 555M 555!� 555 3 555

$
55� 55$ 55 :: 55! 55! 5 5M

=5�
����

55 55
�
55 55

= 55 55 55!! 55
= 55 55!!

�
55 55EE 55 55!! 55

� 5 5 5
M
=5 5

9G���
solo

5 5 : 5 5 5 5 = 5� 5 5M 5M 5 5 5 5 :555� = 5 5 5M 5M
5� :5 5! 3 5� 55 55 55 :: 55! 55! 5 5 =3 3

���� 55
5 55�

5 5 = 55 5 5�5 5 5 55 5 = 55 ::5 55! 55E 55 5! 55
� 55 55 =5!�

17G���
tutti

55 55 555! 555�
�
555 555 555 555 555 55

3 5$55!� 5� 555 5 3 55
$ 5 55� 555 :: 55 5 5 5 5 : 5 5 555M 555M

=5 5 5 5
3

���� =
55 55 55!!�

55�� 55 55 55 55
55�

55 55��� 55 55
:: 55 55 55 5 5 5 =
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Supplementary Example 8.4
Mozart, Piano Concerto in B-flat, K. 450
second movement, 1–24

1

Analyzing Classical Form



26 ::
::

G 5B 5
sf

E55 5B 5!
sf

E55 5B 5
ff

55M 55M 555M 555M 55B 55
f

55M 55 55 55M 55M 4
� BB

55 BB!!
55 BB 55M

!! 55M 55M 55M 55 55 55M BB 55M 55M
4

Supplementary Example 8.4, Mozart, Piano Concerto in B-flat, K. 450, second movement, 1–24 (continued)
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Con espressione

G��� 5 5 5! 5 5 5 5 5! 5 5 5! 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5! 5

���� = 5
5 5 5 5 5 5 5 5 5! 5 5 5 5 G5 5! 5

5 5 5 5 5 5 5� 5 5 5� 5 5 5! 5 5 �
5 5 5

5 1. ::
::

2. ::
::

G��� 5� 5 5 k5�5 5! 5 5! 5! 5 5 5 5E 5 5 5 5! 5 5 5� 5 5 5 5 5 5 5 5 5 5 5

���� 5 5
5� 5E 5! 5 5 5! 5

5 5 5 5� = 4 5 5 5 5 5 5� 5 5 5 5 5 5 G5 5 5
5 5 5

8G��� 5 k5�5 5 5 5 5 5 5 5 5 5 5 5 5 5 k5�5 5 5 5 5 5 5 5 5! 5 5 5 5

G��� 5 5 5 5 5 5! 5 5 5 5 5 5 5 5 5 5 5 5 5 5! 5 5! 5 5 5 5 5
�

5 5 5
5 5 5 5 5! 5
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Supplementary Example 8.5
Beethoven, Variations on “God Save the King”
variation 5

1

Analyzing Classical Form



12 1. ::
::
2.

G��� 5
sf

k5�
5

p

5 5 5� 5 5 5� 5 85! 55!! 5 5� 5 5 5 5 55!! 5� =
���� 5 5

5 5! 5 5 5 5� 5 5 5 5� 5 5 5 5 5! 5 5 5 5 55 5 5 5 5 5 5 5 5 55� =

Supplementary Example 8.5, Beethoven, Variations on “God Save the King”, variation 5 (continued)
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Allegro assai ::
::
::
::

1
2
GEE 4 4

p
5$5 55 5$5 5 5 5 5 555 5 5� = 5 5 55 5 5 55 5 5E 5 5 5 5 5

�EE 4
p

5 5 5 5 5 5 5 5 5 5 5 5 5 4 0 0 0 4

GEE
p

5$5M 5M 5 555 5 5$5 5 5 5 5 555 5 55 5$5555 555 5$5555 555
5 5 5 5 5 5 5 5 5 5 5 5E 5

GEE 4 55 55 55 55 55 55 55 55 55 55 5555 55 5 5 55 5 5 55 5 5E 5 5 5 5 5

::
::
::
::

9 ::
::
::
::

1
2
GEE 0 4 5555 5M 5M 4 4 5555 5M 5M 5555 5� = 5$5M 5M 5555M 5M 5M 555555 5
�EE 0 B B B 5 4 4 5555 5� = 5 5 5 5 5 5 5

GEE 5$5M 5M 5 55 5ME 5M 5$5M 5M 5M 5M 5 555M 5M
5$5M 5M 5

M 5M 5 5 5 5$5M 5M 55555 5 5 5 5 555555 5

GEE 0
B5 5 5 5 55

4
B5 5 5 5 55 5555 5� = �5555

5� = 5 5 5 5 5 5 5
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Supplementary Example 8.6
Haydn, Piano Trio in D, H. 7
third movement, 1–16

1

Analyzing Classical Form
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Allegro

G����
p

555 5! 55555 5� 55 555 5! 555 5! 5 5� 5! 55555 555555 5! 5 555555555555 555555555 5 5!
5

����� 4 0 0 B4 5� 5 B5 5 5 5 5 5 5 5 5M 5M
5 5 5 5!

7G���� 5555 5� 555 55 5! 55 5 5! 5 5� � =
55�� 55 55 55 55 55 5M 555M 555M 555M 555� = 5 5 5! 5

�����
5555 5 5� 55 55 5 5! 5 5 5 5! 5 5� 5! 55555 555555 5! 5 55555555 5M 5M

5 5

13G���� 55 5! 5 5� 555 5555
5 5 5! 5 5 5 5 5

5555 55 5! 5 5� 555 55555555555

����� 5! 5 5! 5 5 5 55 5! 5 55 5! 5 5� 555 5555 5� 5 5 5 5 5 5 5 5 5
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Supplementary Example 8.7
Beethoven, Piano Sonata in A-flat, Op. 26
fourth movement, 1–28

1

Analyzing Classical Form



19G���� 55 5 55 5 55 5 55 5 55
� = 55 55 55!! 5 55!! 55

55
55 5 5 5! 5 5 5 5! 5 5� 5 5 5

����� 5 5 5 5 5M 5M
5 5 5! 5 5 5 5! 5 5� 5 5 5 G

5 5 5 5 5 5 5! 5 5 5

24G����
cresc.

5 5 5 5 55�� 55 55 55
55

55
55�

555 5 555 5 555 5 55 5 55 5 55 5 55 5 55� =

G���� �5 5 5 5 5 5 5 5 5! 5 5� 5 5 5 5 5 5 5 5 5 5
5

5 5 5 5 5
5 5 5 5 5

Supplementary Example 8.7, Beethoven, Piano Sonata in A-flat, Op. 26, fourth movement, 1–28 (continued)
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Allegretto ::
::

G���
p

5 55 5 55! 5 5 4 4 5 E5B :5 5 55 55! 4 4 5 5B 5
M
5
M
B 5
M
5 5 55 555 5 5 5 5! 5 5! 5 55 5E 5 4 4

���� 4 55 4 55 4 55 4 ? B' B 55 4 ?
B' B '5 5 5 55E 555 4 !5! 5 5 4 55 4 455 5 5

9G��� 5 55! 5 55 5 55! 4 4 !55 5B 5E5BB 5! 555 4 4 55 �5B 5
M 5MB 5

M
5� 5 55 55 5 5 555E 5 5 555 55 55 55B 55!!

555 4 4

���� 4 55! 4 55 4 55 4 4
55 BB B! 5 4 ?

B' B '5 5 5 5E 55 4
5! 5 5 4

5 5 5 5 555 4 4
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Supplementary Example 8.8
Mozart, Piano Concerto in C minor, K. 491
third movement, 1–16

1

Analyzing Classical Form


